Exponential Regression Homework

Name: Date:

1)

Baseball Salaries. Ball players have been signing ever-larger contracts. The highest salaries (in millions of
dollars per season) for some notable players are given in the following table.

a) Find an exponential model for this data. Use years since 1980 for
the x variable.

b) Whatis the growth rate of salaries¢ State the growth rate in the
context of the problem?

c) Predict a salary for the year 2012.

d) Using the Internet, see if you can find out the largest baseball
salary this yeare How does it compare to your prediction?

Salar
Player Year (miIIionZ $)

Nolan Ryan 1980 1.0
George Foster 1982 2.04
Kirby Puckett 1990 3.0
Jose Canseco 1990 4.7
Roger Clemens | 1991 5.3
Ken Griffey, Jr. 1996 8.5
Albert Belle 1997 11.0
Pedro Martinez | 1998 12.5
Mike Piazza 1999 12.5
Mo Vaughn 1999 13.3
Kevin Brown 1999 15.0
Carlos Delgado | 2001 17.0
Alex Rodriguez | 2001 25.2

2) Internet Users. Reliable data about Internet use are hard to come by. But Nau Internet Surveys cites
estimates of 18 million Internet users in the U.S. in 1995, 76 million users in 1998, and 119.2 million in 1999.
a) Using regression, determine whether a linear or an exponential function would be a better model?
Explain. Find both equations, rounding to 3 decimails.
b) Whatis the slope from the best-fit linear function? Interpret this in the context of the problem.
c) What was the annual growth factor and growth rate from the best-fit exponential function? Interpret
the rate in the context of the problem.
d) Using the model that you felt was the best in part a, how many users do you predict for 20202
3) Coins. A box containing 1,000 coins is shaken and the coins are emptied onto a table. Only the coins that

land heads up are returned to the box, and then the process is repeated. The accompanying table shows
the number of frials and the number of coins returned to the box after each frial.

a) Write an exponential regression equation, rounding the calculated values to the nearest ten-

thousandth.

Trial 0 1 3 4 1)
e 1000 | 610 | 220 | 132 | 45
Returned

b) Use the equation to predict how many coins would be
returned to the box after the eighth trial.




